Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

=50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Note: & w‘swer any Four questtonsfrom Q.No. I tQ»Q 'No.
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1 a. Define Financial Maﬁagement {V A\ ;}y (02 Marks)
b. ABC Ltd., has the followﬁig kapltal structure \f V
(" Source \\“ Rs

Equity (Expected dividend 12%) "10,00,000

10% Preferenee .| 5,00,000

8% Loan <~/ 15 00,000

before and after tax. 06 Marks)
c. A company issues 10,000, 10% preference shares of Rs 100 each. Cost of issue is Rs 2 per
share. Calculate cost of preference Qapltél\lf these shares are issued i) at par i) ata
premium of 10% iii) ata dlscoumi f 5% | (08 Marks)

(02 Marks)
il (06 Marks)
c. A project involves initial 1nvestrﬂent for $ 5,000, 000‘ é’ihe net cash inflow durlng the first ,

second and th1rd year is expect@d respectively $ 3, 061 , $3,500,000 and $ 2,000,000.
S icated at $ 1,000,000. The risk

2 x’

\‘ (08 Marks)
a. What are the two 1mportaht characteristics of current — assetS"» N (02 Marks)
b. What is the dlffereri ‘between operating leverage and ﬁnanmafleverage‘? (06 Marks)

c. A firm purchas ‘hlachlnery for Rs 800,000 by makmg a down pagfment of Rs 150 000

to the ﬁrm‘7’ (08 Marks)
a. Define )Vori\mg Capital. " '}\ (02 Marks)
b. Descr@he ihe features of equity shares. What is the difference between %th share and
debentures‘7 \=7/~(86 Marks)

c. Mr. Longmarl borrow Rs 10,00,000 at an interest rate of 15% and the loan is tQébp Rald in 5
eq‘ual installments payable at the end of each of the next 5 years. Prepare»ﬁ}h “““ N loan

"mertlzatlon schedule.

a HOW long will it take to double your money if it grows at 12% annually? (02 Nf;rks)

b. A company has Rs 100,000 , 10% debentures and 5,000 equity shares outstanding. It is in
the 35% tax bracket. Assuming three level of EBIT : i) Rs 50,000 ii) Rs 30,000
iii) Rs 70,000. Calculate the change in EPS, assuming base level of EBIT = Rs 50,000.

(06 Marks)

c. Explain the factors affecting the cost of capital. (08 Marks)
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'(02 Marks)
(06 Marks)
given below.

a. What 1 Sinking Fund Factor?
b. What i s A nu1ty‘7 Explain different type of annuity with example.
c. The reléxapt financial information for XYZ Ltd., for the year ended 2&12 15

ka

(Profit ana“f ©0ss account Rs in million). OV (08 Marks)
\%M::‘.:;:_"} Y
" \i,;/ﬁ FartEniars 112012 31122612
7/ Sales 80
<] (Cost of goods sold | 56
\}Mnventory 9 P
Account Receivable 12 <‘\\j\’ 16
Account Payable 7 A0

What is the length of Opef’ra\mg cycle and the cash cyo;le5 A;sume 365 days to a year.

(02 Marks)

N\
. Explain different approaches of«workmg capltal (Current assets) financing policy. (06 Marks)
c. Calculate Operating leverage, P\manelal leverage “anid’ Combined leverage from the following

o

information : Or (08 Marks)
Particulars | Disha Company Ltd (Rs) Gagan Company Ltd., (Rs)
Sales 25,005,000 35,00,000
Variable cost 7,00,000 . 11,00,000
Fixed cost 8,00, GOQ 20 10,00,000
Interest 3 ,00, i}OO " 0) 4,00,000
(& 5 pd ’
A Company is considering the followgi‘g? investment pmjects !
Projects | <~  Cash flows(Rs)
(" Co G <C2 &

/7 1°10,000 | + 10,000
/710,000 | + 17,500 +7.5®M
NT-10,000 | + 12,000 | + 4,000°
- 10,000 [ +10,000 [ +3,000

i) Payback iii) IRR and iv) NPV ; assumlng dlscount rates of 10 and 30

percent.

(16 Marks)
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